Virginia High School League

Scholastic Bowl, 2000-01 season

District Competition, Match #1

These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition.

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1. Flowers are split into three parts. Stem vascular bundles are scattered. Secondary growth does not occur, and so the plant stems do not contain wood. Most recognisably, the major leaf veins are parallel. These are all characteristics of what kind of flowering plant?

ANSWER: MONOCOTYLEDONS or MONOCOTS
2. Of the original six republics of Yugoslavia, which one along with Serbia has stayed in Yugoslavia?

ANSWER: MONTENEGRO
3. His short-story collection, Twice-Told Tales, contains the story Dr Heidegger’s Experiment. Who is this New England author that also wrote classics such as The House of the Seven Gables and The Scarlet Letter?

ANSWER: Nathaniel HAWTHORNE
4. The Fugitive Slave Act was a concession to the slave states in what compromise, named for the year in which it was passed?

ANSWER: Compromise of 1850
5. It is basic to say that something is equal to itself. This is, however, the definition of what algebraic axiom?

ANSWER: reflexive axiom

First period (continued)

6. A wedge is a variety of this type of simple machine that involves applying a small force over a longer distance to a load that needs to be raised. What type of simple machine is this, which is a surface set at an angle other than a right angle against a horizontal surface?

ANSWER: INCLINED PLANE
7. What novel by Leo Tolstoy has its title character commit suicide by throwing herself under a train?

ANSWER: ANNA KARENINA
8. This empire was named for the ancient Greek city that stood on the site of its capitol, and its ending in 1453 marked the end of Gibbon’s The Fall and Decline of the Roman Empire, as it had originally been founded when Diocletian split the Roman Empire. What was this empire that stood as a bulwark in Eastern Europe against Muslim expansion and had its capitol at Constantinople?

ANSWER: BYZANTINE empire

9. What term defines two polygons where corresponding angles are equal, but the lengths of the sides may differ?

ANSWER: SIMILAR
10. What Spanish painter painted The Persistence of Memory, a painting where several watches seem to be flattened and hung over various surfaces?

ANSWER: Salvador DALI
11. In 1869 he observed that ‘if all the elements be arranged in order of their atomic weights a periodic repetition of properties is obtained.’ He then attempted to predict the properties of elements that had not yet been discovered, often coming very close to the correct answer. Who was this Russian that designed the first periodic table?

ANSWER: Dmitri MENDELEEV
12. What nine-letter word starting with “C” means “to cause transformation of a liquid or solid into a soft, semisolid, or semi-solid mass,’ often happening to blood as scars form?

ANSWER: COAGULATE
First period (continued)

13. While Moses was up on Mount Sinai, the Israelites got impatient. They then had Aaron construct what golden idol as a replacement for the God they thought had abandoned them?

ANSWER: The Golden CALF
14. What is the name of the protocol that is usually paired with IP, or internet protocol and is abbreviated TCP?

ANSWER: TRANSFER CONTROL PROTOCOL (prompt on TCP)

15. Metternich presided over what 1815 meeting, where the European power attempted to create a post-Napoleonic order?

ANSWER: CONGRESS OF VIENNA
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.
1A.
A line technically has no endpoints, whereas a line segment has two endpoints. What term is used to define something with only one endpoint, the same name given to the two “sides” of an angle?

ANSWER: ray
1B.
What is the English name for Auguste Rodin’s most famous work, Le Penseur?

ANSWER: THE THINKER
2A.
A runner does not cool down properly, and experiences cramping in his legs a few hours later. This is a result of incomplete cellular respiration has occurred, and what acid’s buildup in the muscle cells has caused it?

ANSWER: LACTIC acid

2B.
The phrase ‘millions for defense but not one cent for tribute!’ comes from the American war against what group of pirate states in North Africa?

ANSWER: BARBARY states

3A.
Nora and Torvald Helmer are the central couple in what play by Henrik Ibsen?

ANSWER: A DOLL’S HOUSE
3B.
What book by Bernard Malamud is about the travails of baseball player Roy Hobbs and was later made into a Robert Redford movie?

ANSWER: THE NATURAL
4A.
What was the theory that stated that when one country in a region fell to Communism, others would fall, much like the objects for which the theory was named?

ANSWER: The DOMINO theory

4B.
Which trigonometric function is equal for the angle x as well as the angle negative x?

ANSWER: COSINE
Second period (continued)
5A.
In 1992, this Japanese immigrant suspended his country’s constitution and instituted a ‘self-coup’ giving him extraconstitutional power. However, now he is about to be impeached by his country’s Congress for moral incompetence. Who is this man that defeated the Sendero Luminoso and Tupac Amaru rebel groups, the president of Peru?

ANSWER: Alberto FUJIMORI
5B.
Tundra, taiga, tropical savanna, desert and tropical rainforest are examples of what major ecological groupings, differentiated by their rainfall, temperature, flora and fauna patterns?

ANSWER: BIOMES
6A.
THIS IS A COMPUTATION QUESTION. An angle, if doubled, has a compliment of 56 degrees.  What is the measurement of the angle?

ANSWER: 17 degrees (the angle if doubled is 44 degrees as its compliment is 56)

6B.
What religion centers around the worship of kami, or nature spirits, has Amateratsu as its chief goddess, and is the indigenous religion of Japan?

ANSWER: SHINTO
7A.
What is the name given to the group of elements located in the leftmost column of the periodic table?

ANSWER: ALKALI metals

7B.
Beatrix and Wilhemina have been 20th century queens of what European nation?

ANSWER: HOLLAND or The NETHERLANDS
8A.
What four letter prefix comes from the Greek word for six?

ANSWER: HEXA-
8B.
Who were the three original Musketeers?

ANSWER: PORTHOS, ATHOS, and ARAMIS
Second period (continued)
9A.
What state does the Speaker of the House, Dennis Hastert, represent in the House of Representatives?

ANSWER: ILLINOIS
9B.
These organelles are very small, and are composed of 50 proteins and several long RNA strands bound together. They exist freely floating in the cytoplasm and also bind to the endoplasmic reticulum. What are these organelles responsible for protein synthesis?

ANSWER: RIBOSOMES
10A.
How many complete symphonies did Beethoven write, with his last being the Choral Symphony?

ANSWER: NINE
10B.
What name is given to the points on a function where its second derivative changes signs, which are also noted as the points where the concavity of a function change?

ANSWER: POINTS OF INFLECTION

Third period: 15 tossups
1. The eastern trade winds weaken, allowing warm water from the Western Pacific to flow eastward. This causes drought in Southern Africa, India, Australia, Mexico and Central America, among other places. At the same time, flooding occurs in Bolivia, Ecuador and Peru, among other places. What is this atmospheric effect that generally happens every five to six years?

ANSWER: EL NINO
2. THIS IS A COMPUTATION QUESTION. What is the second derivative of the function x3 + 7x2 – 10x + 3?

ANSWER: 6x + 14 (six x plus fourteen)

3. After he was ordered to bring his army back to Rome, he refused, first attempting to invade Britain, and then eventually brought his army back to overthrow the Roman government, becoming dictator and ruling for nine months before being assassinated. Who was this man who crossed the Rubicon and was assassinated in 44 BC?

ANSWER: JULIUS CAESAR
4. Frederick, the younger brother of Duke Senior, has usurped the throne. Duke Senior exiles himself to the Forest of Arden, but their daughters Rosalind and Celia maintain a close friendship. Eventually, with the help of Jaques the fool, Rosalind and Celia fall in love with brothers Orlando and Oliver, and Duke Senior regains the throne in what Shakespeare play?

ANSWER: AS YOU LIKE IT
5. In the 19th century, he had an opera house built in his native Germany which only performed his own operas. Who is this composer who is best known for his Ring cycle of operas, which are all based on Norse myth?

ANSWER: Richard WAGNER
6. Microwaves are the shortest of what type of electromagnetic waves that are used primarily for transmission of information across long distances without needing wires?

ANSWER: RADIO waves

7. Born in Staunton, Virginia, he was president of Princeton and governor of New Jersey before getting elected President and then re-elected on the slogan “He kept us out of war.” Who was this President who a year later entered us into World War I?

ANSWER: Woodrow WILSON
Third period (continued)

8. Her decision to make counties report official results by 5 PM on November 14 was eventually overturned by the Florida Supreme Court. Who is this woman, the Florida Secretary of State?

ANSWER: Katharine HARRIS
9. THIS IS A COMPUTATION QUESTION.A gambler is trying to roll a nine on a dice roll. However, he is rolling using a crooked pair of dice that doubles his chances of getting that nine. What is his chance, expressed as a fraction in lowest terms, of rolling a nine on the next roll?

ANSWER: 2/9 or two-ninths
10. A poor Mexican fisherman finds the title object and intends to go to Mexico City to see that it gets delivered to the Pope. However, over the course of the story, the title object eventually loses its initial lustre and by the time he arrives in Mexico City, it is worthless and pitted with pockmarks. What is this story by John Steinbeck, whose title object is a gemstone?

ANSWER: The PEARL
11. THIS IS A COMPUTATION QUESTION. A union threatens to go on strike if its demands for a 5% wage increase are not met. The company is willing to offer only 2%. Assuming that workers make an average of $9.00 an hour already, what, in cents, is the difference between what the company is offering and what the union wants?

ANSWER:  27 cents or $0.27 (prompt on 3 percent or equivalents) (union wants $9.45, company will offer $9.18)

12. Who is the narrator, saying at the end, ‘I alone survived’, of the Herman Melville book Moby-Dick?

ANSWER: ISHMAEL
13. Which two tectonic plates are separated by the San Andres Fault?

ANSWER: NORTH AMERICAN and PACIFIC plates

14. What is the grammatical error used in the following sentence: “He wanted to really go to the movies”?

ANSWER: SPLIT INFINITIVE
15. Mindanao and Luzon are the two largest islands of what nation?

ANSWER: The PHILIPPINES 

SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.
The tangent of an angle can be expressed as what fraction involving two other trigonometric functions?

ANSWER: sine over cosine (accept equivalents)

What is the single-letter name given to the innermost electron shell, which contains only two electrons?

ANSWER: s shell

What 8-letter adjective starting with ‘M’ is used to describe the highest tax rate a government charges?

ANSWER: MARGINAL
What club defeated the Chicago Fire, 1-0, to win MLS Cup 2000?

ANSWER: KANSAS CITY WIZARDS (accept either separately)

What Texas rock-and-roll pioneer fronted a band called the Crickets, and was killed on February 2, 1959, along with The Big Bopper and Richie Valens?

ANSWER: Buddy HOLLY
All questions © 2000 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


